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Question Number : 1 Question Id : 87827051125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Most of the domestic cultivars of apple are denved from

1. Malus domestica
2. Malus baccatta
3. Malus pumila
Prunus persica

e

Options :

878270201141. 1
878270201142. 2
878270201143.3

878270201144. 4

Question Number : 1 Question Id : 87827051125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U9 @ ATYHI T Ueladl o0 o

1. -'-?C?r'—." Sﬂ'{?r:‘ﬂ'?-'
2 Ty gadbic]

Options :

878270201141. 1
878270201142. 2
878270201143.3

878270201144. 4

Question Number : 2 Question Id : 87827051126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Domestic crab apples are hybrids between.

1. Malus pumila X Malus baccatta
2. Malus baccatta X Malus pumila
3. Malus pumifa X Pyrus persica

4 Malus baccatta X Pyrus persica

Options :

878270201145. 1
878270201146. 2
878270201147. 3
878270201148. 4

Question Number : 2 Question Id : 87827051126 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270201145. 1
878270201146. 2
878270201147.3

878270201148. 4

Question Number : 3 Question Id : 87827051127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sapota is grown in

1. Humid condition

2. Warm condition

3. Warm and Humid conditions
4 Temperate condition

Options :

878270201149. 1
878270201150. 2
878270201151. 3

878270201152. 4



Question Number : 3 Question Id : 87827051127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i (Sapota) ............ T I A &
1. 3% oRfRfaar
4. Siiare affRufaar

Options:

878270201149. 1
878270201150. 2
878270201151. 3

878270201152. 4

Question Number : 4 Question Id : 87827051128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Citrus fruit ranks first for production in India

1. Sweet orange
2. Mandarin

3. Lemon

4 Lime

Options :

878270201153. 1
878270201154. 2
878270201155. 3

878270201156. 4



Question Number : 4 Question Id : 87827051128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270201153. 1
878270201154. 2
878270201155. 3
878270201156. 4

Question Number : 5 Question Id : 87827051129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Mangao [(1). Iron

(B). Aonla |(Il). Carbohydrates

(C). Karondal(lll). Vitamin A

(D). Banana |(IV). Vitamin C

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV}

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270201157. 1
878270201158. 2
878270201159. 3

878270201160. 4

Question Number : 5 Question Id : 87827051129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270201157. 1
878270201158. 2
878270201159. 3

878270201160. 4

Question Number : 6 Question Id : 87827051130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Mango contains

1. Male flowers

2. Female flowers

3. Hermaphrodite flowers

4 Male and Hermaphrodite flowers

Options :

878270201161. 1
878270201162. 2
878270201163. 3

878270201164. 4



Question Number : 6 Question Id : 87827051130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. R g™
3. SHTcH o
4. TR 3R IHgfeit gsg

Options:

878270201161. 1
878270201162. 2
878270201163. 3

878270201164. 4

Question Number : 7 Question Id : 87827051131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Date palmisa.............. fruit crop

1. Dioecious

2. Gynodicecious
3. Monocious

4 Andromonocious

Options :
878270201165. 1
878270201166. 2

878270201167. 3



878270201168. 4

Question Number : 7 Question Id : 87827051131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2. THAR YT
3. IHGfcTE

Options :

878270201165. 1
878270201166. 2
878270201167. 3
878270201168. 4

Question Number : 8 Question Id : 87827051132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Self male sterile variety of peach is

1. Alexander
2.J H Hale
3. Elberta

4. Flordasun

Options :
878270201169. 1

878270201170. 2



878270201171.3

878270201172. 4

Question Number : 8 Question Id : 87827051132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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2 9.9 &gd
3. Uedel
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Options:

878270201169. 1
878270201170. 2
878270201171. 3

878270201172. 4

Question Number : 9 Question Id : 87827051133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

| ow chilling variety of peach is

. Flordasan
Red Haven

- Florda King

- Spring Red

A

Options :

878270201173. 1



878270201174. 2
878270201175. 3

878270201176. 4

Question Number : 9 Question Id : 87827051133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270201173. 1
878270201174. 2
878270201175. 3

878270201176. 4

Question Number : 10 Question Id : 87827051134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is experimental design

{A). Complete Randomized Design

(B). Randomized Block Design

(C). Chi- Square

(D). Latin Square Design

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (A), (B) and (D) only.
3. (B), (C) and (D).

4 (A), (C)and (D) only

Options :

878270201177.1
878270201178. 2
878270201179. 3

878270201180. 4

Question Number : 10 Question Id : 87827051134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270201177. 1
878270201178. 2
878270201179. 3

878270201180. 4

Question Number : 11 Question Id : 87827051135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If fertility gradient of experiment plot is in two direction which experimental design will be used
(A). Randomized Block Design

(B). Split Plot Design

(C). Latin Square Design

(D). Complete Randomized Design

Choose the correct answer from the options given below:

1.(C) only.
2.(B)and (D) only.

3. (A)and (D) only.

4 (A), (B) and (D) only.

Options :

878270201181. 1
878270201182. 2
878270201183. 3

878270201184. 4

Question Number : 11 Question Id : 87827051135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270201181. 1
878270201182. 2
878270201183. 3
878270201184. 4

Question Number : 12 Question Id : 87827051136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per area and production estimates of Horticulture Crops 2021-22 (final), arrange the following crops production (‘000MT)
Wise In increasing order-

(A). Jackfruit
(B). Custardapple
(C). Guvava
(D). Grapes

Choose the correct answer from the options given below:

Options :

878270201185. 1
878270201186. 2
878270201187. 3
878270201188. 4

Question Number : 12 Question Id : 87827051136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270201185. 1
878270201186. 2
878270201187. 3

878270201188. 4

Question Number : 13 Question Id : 87827051137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-llI

(A). Chironji (). Rutaceae

(B). Papaya (II).Sapiandaceae

(C). Woodapple (). Anacardiaceae

(D). Litchi (IV). Caricaceae

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV
2. (A) - (D), (B) - (111}, (C}-(IN), (D) - (IV
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (Nl
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (Nl

(D
- (D

(
(
(

i gt mg®  ugar®

Options :

878270201189. 1
878270201190. 2
878270201191. 3

878270201192. 4

Question Number : 13 Question Id : 87827051137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270201189. 1
878270201190. 2
878270201191. 3

878270201192. 4

Question Number : 14 Question Id : 87827051138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the principles of experimental design ?
(A). Randomization

(B). Replication

(C). Sampling

(D). Local control

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270201193. 1
878270201194. 2
878270201195. 3

878270201196. 4

Question Number : 14 Question Id : 87827051138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270201193. 1
878270201194. 2
878270201195. 3
878270201196. 4

Question Number : 15 Question Id : 87827051139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Kiwifruit ({1). Dioecious

(B). Mango ((ll). Polygamus

(C). Papaya ((lll). Andromonoecious

(D). Aonla  [{IV). Monoecious

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV
2. (A) - (D), (B) - (111}, (C}-(IN), (D) - (IV
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (Nl
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (Nl

(D
- (D

(
(
(

i gt mg®  ugar®

Options :

878270201197. 1
878270201198. 2
878270201199. 3

878270201200. 4

Question Number : 15 Question Id : 87827051139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270201197. 1
878270201198. 2
878270201199. 3
878270201200. 4

Question Number : 16 Question Id : 87827051140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Banana|(l). Berry

(B). Mango |(I1). Drupe

(C). Apple |(lll}. Stone

(D). Peach |(IV). Pome

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV
2. (A) - (D), (B) - (111}, (C}-(IN), (D) - (IV
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (Nl
4 (A) - (111, (B) - (IV), (C) - (1), (D) - (Nl

(D
- (D
. (

i gt mg®  ugar®

Options :

878270201201. 1
878270201202. 2
878270201203. 3
878270201204. 4

Question Number : 16 Question Id : 87827051140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)
2 (A) - (1), (B) - (Ill), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (111}
4. (A) - (), (B) - (IV), (C) - (1}, (D) - (1)

Options:

878270201201. 1
878270201202. 2
878270201203. 3
878270201204. 4

Question Number : 17 Question Id : 87827051141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the fruit crop with parts used for consumption purpose

List-| List-ll

(A). Apple ({l). Endosperm

(B). Citrus  |(II). Aril

(C). Coconut|(lll). Fleshy thalamus

(D). Litchi  [{IV). Juicy placental hairs

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (D), . (D) - (lTy

(1l )

(B) - (I1), (C) - (IV)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il

Options :

878270201205. 1
878270201206. 2
878270201207.3

878270201208. 4

Question Number : 17 Question Id : 87827051141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Edl &1 HUd &I SUHNT 3530 o a8 J9ar fid o4 ard YFT ¥ fHaq oo

gt -1l

(A).FF (1), YOO

(B). T1SCH |(I1). Srorar

(C). FTRAT |(11). TEER THrEH

(D). T |(Iv). THER siaisia H|

- feu 7 faded! 5 § Tal IR IH |

1.(A)- (1), (B) - (I), (C) - {|||;| (D) - (IV)

2 (A)- (1), (B) - (Ill), (C) - (Il), (D) - (IV)

3. (A)- (1), (B) - (II), (C) - (IV), (D) - (Il
|

4 (A)- (), (B) - (I j (C) - (1), (D) - (I1)

Options:

878270201205. 1
878270201206. 2
878270201207.3
878270201208. 4

Question Number : 18 Question Id : 87827051142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Atotal of 1,596 high yielding varieties and hybrids of horticultural crops were developed under the leadership of ICAR.
Arrange the following in their increasing number of varifies/hybrids developed -

(A). Oramental Plants

(B). Medicinal and aromatic plants
(C). Vegetables

(D). Plantation and spices

Choose the correct answer from the options given below:

Options :

878270201209. 1
878270201210. 2
878270201211.3

878270201212. 4

Question Number : 18 Question Id : 87827051142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U & e & ST Gl 1 0 1,506 3 9 G AT e o, SR T o0 7G| Rl ol
foh i fafdyenafirent o1 o S o aafld @3 -

(A) FoTae O

(B) 1w &R ife Ut

(C) Howat

(D) SFTH R 78

3 e fowedt § S T ST

B), (
6),

A), (D), (C)
B). (D), (A)

.(A), (B), (C), (D)
(A) '
A
g

)

.(B), (C),
.(C), (B),

i
A

(w ]
=

) (

) [ﬁ
B) 'i
C)

(D

=]

I e

Options :

878270201209. 1
878270201210. 2
878270201211.3

878270201212. 4

Question Number : 19 Question Id : 87827051143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the vegetable crop with its botanical relationship

List-l List-lI
(A). Onion (1Y Convulvolaceae
(B). Carrot (). Liliaceae

(C). Sweet potato

(II1). Alliaceae

(D). Asparagus

(IV). Umbellifereae

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV}

2. (A) - (1), (B) - (1), (C) - (I, { ) - (IV}

3. (A)-(I), (B) - (1), (C } (1V), (D) - (1)

4. (A) - (), (B) - (IV), (C) - (1}, {DJ (I1)
Options :

878270201213. 1
878270201214. 2
878270201215. 3

878270201216. 4

Question Number : 19 Question Id : 87827051143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ool &1 BUd & aid® a9 I fHaq &

it eIl

(A). @ |(1). Sgearcirad
(B). T (). ferferamst
(C). Trddal|(In). ufcrrsdt
(D). TETERT |(1V). Sl
- feu e famedl § 9§ 981 3ok I |

1. (A) - (), (B) - (IN), (C) - {|||:| (D) - (IV)
2 (A) - (1), (B) - |||} {C} (1), {D} (V)
3. (A) - (1), (B) - (Il), (C) - (IV), (D) - (1)
4 (A) - (ll), (B) - {w;u (C) - (1), D}-[EI}

Options:

878270201213.1
878270201214. 2
878270201215. 3

878270201216. 4

Question Number : 20 Question Id : 87827051144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on mode of propagation Dahlia Is a

1. Bulbous plant

2. Cormellous plant
3. Rhizomatus plant
4. Tubenferious plant

Options :

878270201217.1
878270201218. 2
878270201219.3

878270201220. 4



Question Number : 20 Question Id : 87827051144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yaiH & fafY & R R Sea U &

1. Gcad UrY

2 HIHaY Gren

3. UgeHeE Ui
4. SIRBIRGY e

Options:

878270201217.1
878270201218. 2
878270201219. 3

878270201220. 4

Question Number : 21 Question Id : 87827051145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the fruit crop with its type of inflorescence

List-| List-ll

(A). Mulberry|(l}). Catkin

(B). Banana [(Il). Hypanthodium

(C). Fig (I1). Spadix

(D). Pear (IV). Corymb

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (D), . (D) - (lTy

(1l )

(B) - (I1), (C) - (IV)
4. (A) - (ll1), (B) - (IV), (C) - (1), (D) - (Il

Options :

878270201221.1
878270201222. 2
878270201223.3

878270201224. 4

Question Number : 21 Question Id : 87827051145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bl &1 BUd B 39 TR & JuHd U e

-1 GGIRL

(A). TIEqd |(1). Pefhe

(B). em  |(I). BTEUUITETH
(C). 3R |(1). SWiEes
(D). AR |(1V). FHRRE

- feu e famedl § 9§ 981 3R I |

1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270201221.1
878270201222. 2
878270201223.3

878270201224. 4

Question Number : 22 Question Id : 87827051146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Atotal of 72 974 genetic resources of Indian Horficulture is available in reputed databases. Arrange the following in
decreasing order of their accession numbers in the database -

(A). Vegetables and Tuber Crops
(B). Plantation and Spices

(C). Medicinal and Aromatic Plants
(D). Fruits

Choose the correct answer from the options given below:

(D)
(D)
)
(A)

A), (B), (
0).(

[
=]

1

]

=

B

) (
)
C),{

=]

D

(-]

A), (
B)

=
[

),
)
) (
)

I e
— —

Options :

878270201225. 1
878270201226. 2
878270201227.3

878270201228. 4

Question Number : 22 Question Id : 87827051146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WG A o i 72,974 AR e ol Sere A Sueal €1 fRfciid &l Sora & S| TRUgY ¥ & 9ed
FAH AR e -

(A) Fforl 3R 6 @) B

(B) TTH 3R 74Tl

(C) S 3R it e

(D) &

A few o e 1 9 O SR T

(A
(
(
(

B),
0),
A), (D),
(). (D),

(C)
)

D

2=
(=]
=

(

(
B,
0

C
A

(A), D)
(A), D)
.(B), (A), (D), (C)
(C) (A

I e
—

Options :

878270201225. 1
878270201226. 2
878270201227.3
878270201228. 4

Question Number : 23 Question Id : 87827051147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on pollination behaviour Okra is a

. self pollinated crop

. Cross pollinated crop

. Often cross pollinated crop

. =elf and cross pollinated both

B T o

Options:
878270201229. 1

878270201230. 2



878270201231. 3
878270201232. 4

Question Number : 23 Question Id : 87827051147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRFTO] S9ER & YR | ST (Okra) T &

1. W-QTd o
2. UR GRIFTd ®dd
3. AR TR TFd B
4 T 3R UR YR g

Options:

878270201229. 1
878270201230. 2
878270201231. 3

878270201232. 4

Question Number : 24 Question Id : 87827051148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sporophytic self incomatibility is found in

1. Mango

2. Ber

3. Apple

4 Pineapple

Options :
878270201233. 1

878270201234. 2



878270201235. 3
878270201236. 4

Question Number : 24 Question Id : 87827051148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RGBS 3 HGTId H Ul o4l &

1. 3M

2 &

3. 49

4 SEFTH

Options:

878270201233. 1
878270201234. 2
878270201235. 3

878270201236. 4

Question Number : 25 Question Id : 87827051149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cleistogamy is a condition that leads to

_ Self pollination

. Cross pollination

_ Often cross pollination

. Self and cross pollination both

L

Options :
878270201237.1

878270201238. 2



878270201239. 3

878270201240. 4

Question Number : 25 Question Id : 87827051149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T (Cleistogamy) e U fRufd & & 3l 9rdi @

1. 59 TIAT0] &l

2GR U0 &l

3. TR UR GRETI &l

4. T 3R UR QAT g i

Options:

878270201237. 1
878270201238. 2
878270201239. 3

878270201240. 4

Question Number : 26 Question Id : 87827051150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The preservation of food in commeon salt and vinegar is known as

1. Jam
2. Jelly
3. Pickles
4 Squash

Options :
878270201241.1

878270201242. 2



878270201243. 3
878270201244. 4

Question Number : 26 Question Id : 87827051150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 93 AR e § 4 & S&0 @l & TUH AT A 8

1.9
2 ot
3. 3ER
4 THE

Options:

878270201241. 1
878270201242. 2
878270201243. 3

878270201244. 4

Question Number : 27 Question Id : 87827051151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fruit jelly in which slices of the fruit or its peel are suspended is known as

1. Ketchup

2. Marmalade
3. Preserve

4 Candy

Options :
878270201245. 1

878270201246. 2



878270201247.3

878270201248. 4

Question Number : 27 Question Id : 87827051151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== =,

ol oicl! forgd B 1 39& 0! & <ohs Fdfed gid &, deardl &

1. &9g
2 AHdS
3. TRa
4 Hal

Options:

878270201245. 1
878270201246. 2
878270201247.3

878270201248. 4

Question Number : 28 Question Id : 87827051152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mango nector consists of fruit pulp (%)

1.20
2 10
330
4 40

Options :
878270201249. 1

878270201250. 2



878270201251. 3

878270201252. 4

Question Number : 28 Question Id : 87827051152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

319 BT U] 79 (H711 HFex) H Badl BT % el il §

1. 20
210
3. 30
4 40

Options:

878270201249. 1
878270201250. 2
878270201251. 3

878270201252. 4

Question Number : 29 Question Id : 87827051153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sugar is added in the jelly according to the content of
1.
2
3. Fruit
4

Options :
878270201253. 1

878270201254. 2



878270201255. 3

878270201256. 4

Question Number : 29 Question Id : 87827051153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR FUBT AP AR HE o g

1. 3T
2.3
3. ®d

4 HX

Options:

878270201253. 1
878270201254. 2
878270201255. 3

878270201256. 4

Question Number : 30 Question Id : 87827051154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is characteristic of Latin square design?

{A). Number of treatment are in square

(B). Rows and Columns are same

(C). Randomisation is not practiced

(D). Fertlity gradient is in two direction

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (B), (C) and (D) only
4 (A), (C)and (D) only

Options :

878270201257. 1
878270201258. 2
878270201259. 3

878270201260. 4

Question Number : 30 Question Id : 87827051154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dfed AR fEegd @1 fazgar &1 82
(A) STER B IV T H 3
(B). Ut iR Y T &

(C). TR H S ST 3 i [hdl JIdl o

(D). IdXdT UauraT ol femmafi 7 &

Td feu e fgwedl § 9 98 S| |

1. @ad (A). (B) 3R (D)

2 ®ad (A), (B) 3R (C)

3. ®ad (B). (C) 3R (D)

4 ®Had (A). (C) 3R (D)
Options :

878270201257. 1
878270201258. 2
878270201259. 3

878270201260. 4

Question Number : 31 Question Id : 87827051155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange various stages in Remote Sensing Data Acquisition in correct sequence?

(A). Extraction of the information contents from the data products; Conversion of information into Map/Tabular forms

(B). Source of Energy; Transmission of energy from the source to the surface of the earth

(C). Propagation of reflected/emitted energy through atmosphere; Detection of the reflected/emitted energy by the sensor
(D). Conversion of energy received into photographic/digital form of data

Choose the correct answer from the options given below:

B), (C), (D
B), (), (C
B), (A), (D
D), (B), (C

A).
)
)
)

Ty T

(8),(C), (D). (
(8),D), (C),(
(B), (A), (D), (
| ) (

B e

A

Options :

878270201261. 1
878270201262. 2
878270201263. 3

878270201264. 4

Question Number : 31 Question Id : 87827051155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et @ftn St aiftrg # fafir <R @1 Wg1 P H oZaieyd B

(A). ST TG Y a1 TER 1 s TfaRTieg O 1 Qo & S

(B). Tl @1 Td: Tid ¥ Ut 1 TAE T il bl Hew]

(C). AgHST & A1 ¥ Rakid/Icafold il &l JatH: Gdod R Wdida/Sdad SHai o1 Gdl Tl

e
[ |
]

(D). I ol @1 5c1 & Bieanbdie

A feu e fasedt 4 9 w6l SR T

R R GNY

Options :

878270201261. 1
878270201262. 2
878270201263. 3

878270201264. 4

Question Number : 32 Question Id : 87827051156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statements are correct about role of auxins ?

{A). Apical dominance

(B). Cell division and cell enlargement

(C). Shoot and root growth

(D). Prevention of genetic dwarfism

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A) and (D) only.

3. (A), (B) and (C) only.
4 (A), (C)and (D) only

Options :

878270201265. 1
878270201266. 2
878270201267.3

878270201268. 4

Question Number : 32 Question Id : 87827051156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HITSRT BT YD & IR H DI U HY Tl 52
(A). Ty THEdl

(B). DD fGUTe 3R DI SrdiHu

(C). AP 3R IS Bl dfg

(D). GRS aEdl &1 AHUH

Td feu e fgwedl § 9 98 S| |

1.%ad (A), (B) IR (D)
2 &ad (A) 3R (D)

3. ®ad (A), (B) 3 (C)
4. @dd (A), (C) 3R (D)

Options :

878270201265. 1
878270201266. 2
878270201267.3

878270201268. 4

Question Number : 33 Question Id : 87827051157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many bahar are found in guava

(A). Ambe Bahar

(B). Mrig bahar

(C). Apple Bahar

(D). Hast Bahar

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (B), (C) and (D) only
3. (C)and (D) only

4 (A), (B) and (D) only

Options :

878270201269. 1
878270201270. 2
878270201271.3

878270201272. 4

Question Number : 33 Question Id : 87827051157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al
Laji

HEEe H fard- 9gR 91U o
(A). 3id TBR
(B). T dgR
(C). U §ER

(D). 5% dglY

Td feu e fgwedl § 9 98 S| |

A (B) 3R (C)
). (C) 3R (D)
c 3R (D)

1. ®dd
W
&dd (A), (B) 3R (D)

(

2 (B

DA (

4 (
Options :

878270201269. 1

878270201270. 2

878270201271.3

878270201272. 4

Question Number : 34 Question Id : 87827051158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chi- square test is applied for

{A). Testing of independence of attributes

(B). Genetic problem and detection of linkage

(C). Testing the expectation of a ratio

(D). Estimation of correlation

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (C) and (D) only
4 (B), (C)and (D) only

Options :

878270201273. 1
878270201274. 2
878270201275.3

878270201276. 4

Question Number : 34 Question Id : 87827051158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BIS-THIR (Chi- square) TI&UT & fore aF] far siar

(A). T BT WAl BT GA&0T

(B). RIS T 3R &Y @1 gl T
(C). FIUTd 1 S{UAT DT U0 DAl

(D). HgHsY @ AThaH

=td fau e fadedl & ¥ 981 SR 4|

1. %4d (A). (B) 3R (D)

2 ad (A), (B) 3R (C)

3. ®ad (A). (C) 3R (D)

4 ®ad (B). (C) 3R (D)
Options :

878270201273. 1
878270201274. 2
878270201275. 3

878270201276. 4

Question Number : 35 Question Id : 87827051159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The objective of pruning is to

{A). To remove the non-productive parts

(B). To remove the criss cross branch

(C). To allow the light to enter the interior of the tree

(D). To regulate the fruit tree

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270201277.1
878270201278. 2
878270201279. 3

878270201280. 4

Question Number : 35 Question Id : 87827051159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hic- B PI 350 o

(A). IR-ITIGH 4T Dl geH & R

(B). fade wHa (4 1) WIRaT &1 geH & &g

(C). U= B US B HiaRk® Wd< & ®I A & & e

(D). Bl © Us &I faFaffd & & fau

=td fau e fadedl & ¥ 981 SR 4|

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270201277.1
878270201278. 2
878270201279. 3

878270201280. 4

Question Number : 36 Question Id : 87827051160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the characterstics of weed?

{A). Abundant seed production potentiality

(B). There seed do not remain dormant and viable for years

(C). Weed seed germinate earilar and there seedling grow faster

(D). They flower earlier and mature ahead of crop plants to which they infest
Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (A), (C)and (D) only
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270201281. 1
878270201282. 2
878270201283. 3
878270201284. 4

Question Number : 36 Question Id : 87827051160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIUTAR B &0 AT 52

(A). IS IATCH DI SMUR FHIGT

(B). 37 sl a8 dd Mthy 3R FIder el ¥ad 8l

(C). TWUTIR & dI7 Uge PR Bl & 3R I i il 4 9gd &

D). d Ugc Bd &dl & AR B4d & Ui ¥ U8 URUS & 9T & forid! a Ibihd ®Xd ol
=i feu 7Y fadmed! 5 © el S| |

1. ®ad (A), (B) AR (C)
2 &ad (A), (C) IR (D)
3 (A). (B). (C) 3R (D)
4 &ad (B), (C) AR (D)

Options :

878270201281. 1
878270201282. 2
878270201283. 3
878270201284. 4

Question Number : 37 Question Id : 87827051161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the advantages of cropping system?

{A). Better harvest of solar radiation

(B). Maximum utilization of land

(C). Minimum utilization of input

(D). Regular income

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270201285. 1
878270201286. 2
878270201287.3

878270201288. 4

Question Number : 37 Question Id : 87827051161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B YUTTEl & o] TTH 82

(A) OR a0 i 95k UgaR
(B) 4T &1 Hf¥Had IggiT

(C) Fa (input) &1 TAqH IYGIT
(D) Faffd 3

[ —

Td feu e fgwedl § 9 98 S| |

Options :

878270201285. 1
878270201286. 2
878270201287.3

878270201288. 4

Question Number : 38 Question Id : 87827051162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the correct sequence of disease development by pathogen in plant?
{A). Infection

(B). Establishment

(C). Development of sympotms

(D). Contact

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2 {Fv (C), (B), (D)

3. (D), (A), (B), (C)

4. {C,:- (B), (D), (A).
Options :

878270201289. 1
878270201290. 2
878270201291. 3

878270201292. 4

Question Number : 38 Question Id : 87827051162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



016Y H I TeHd R I IS &1 9l 58 182
(A). TsHHD

(B). ¥UTUA (establishment)

(C). &I T TdhTy

(D). 9

Td feu e fgwedl § 9 98 S| |

), (B), (C), (D)
), (D)

Options :

878270201289. 1
878270201290. 2
878270201291.3

878270201292. 4

Question Number : 39 Question Id : 87827051163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following ecological levels of organisation from simple to complex structure
(A). Ecosystem

(B). Community

(C). Species

(D). Population

Choose the correct answer from the options given below:

1.(C), (D), (B), (A)

2.(A), (B), (C), (D)

3. (A), (C), (B\ (D)

4.(C), (B), (D), (A)
Options :

878270201293. 1
878270201294. 2
878270201295. 3
878270201296. 4

Question Number : 39 Question Id : 87827051163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a4 o fAofafeg uifufoe w1 & Wa O 9fed 9= 9@ o9atd &1
(A). TIRfRUfa®T dF

(B). 9qa™

(C). wirfert

(D). SgEEA

Td feu e fgwedl § 9 98 S| |
1. (C), (D), (B), (A)
2. (A), (B), (C), (D)
3. (A), (C), (E‘I (D)
4 (C), (B), (D), (A)

Options :

878270201293. 1
878270201294. 2
878270201295. 3

878270201296. 4

Question Number : 40 Question Id : 87827051164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deep ponds and lakes have the following zonation
(A). Littoral zone

(B). Light compensation level

(C). Profundal zone

(D). Limnetic zone

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2. (A), (C), (B), (D)

3.(B), (A), (D), (C)

4 (C), (B), (D), (A).
Options :

878270201297. 1
878270201298. 2
878270201299. 3

878270201300. 4

Question Number : 40 Question Id : 87827051164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



N e M !

gL aranel R Sl # FEfaiad e E -
(A). dr &

(B). Wb &ffcrgfd el
(C). TR &=
(D). TRIoidr &7

Td feu e fgwedl § 9 98 S| |

)

1. (A), (B), (

( ). (D)
2. (A), (C), (B)

(

(

(D)
), (C)
B), (D), (A)

P

3. (B), (A), (
4 (C),

=
O

Options :

878270201297. 1
878270201298. 2
878270201299. 3

878270201300. 4

Question Number : 41 Question Id : 87827051165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the vegetable crops as per ascending order of their chromosome number
(A). Cauliflower

(B). Pea

(C). Onion

(D). Radish

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
(C), (A), (D)
3 {ﬂu (C), (B), (D)
), (B), (D), (A)

Options :
878270201301. 1
878270201302. 2

878270201303. 3
878270201304. 4

Question Number : 41 Question Id : 87827051165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o

Tooll Bl DI 3®! 0F T & 3Rig! H5 & IR dared H1

(A). BaTH

I fau U fd@wedl O T I8t SR |

s

), (B), (C), (D)
2. (B), (C), (A), (D)
3. (A), (C), (B), (D)
), (B), (D), (A)

Options :

878270201301. 1
878270201302. 2
878270201303. 3

878270201304. 4

Question Number : 42 Question Id : 87827051166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statements are correct about the role of gibberalins
(A). Prevention of genetic dwarfism

(B). Bolting and Flowering

(C). Apical dominance

(D). Parthenocarpy

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (B), (C) and (D) only
3. (A), (B) and (D) only.
4 (A), (C)and (D) only

Options :

878270201305. 1
878270201306. 2
878270201307. 3
878270201308. 4

Question Number : 42 Question Id : 87827051166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foraRfeq B YAdT & SR H B YT U1 8 2

(A). AFERIS a1 B AHUH

(B). Ipe AR T

(C). ey urRad
(D). B HaA
=td fau e fadedl & ¥ 981 SR 4|
1. %4d (A). (B) 3R (C)
2 ®add (B). (C) 3R (D)
3. @ad (A), (B) 3R (D)
4 ®Had (A). (C) 3R (D)
Options :

878270201305. 1
878270201306. 2
878270201307. 3

878270201308. 4

Question Number : 43 Question Id : 87827051167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An art of growing dwarf ornamentally shape tree or shrubs in shallow container is known as

1. Hedge
2. Edge
3. Pergola
4 Bonsai

Options:

878270201309. 1
878270201310. 2
878270201311.3



878270201312. 4

Question Number : 43 Question Id : 87827051167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3YT U § T9ae! €U 4 9 PR & US U1 ST & I @ pel . T ®U H o Il 5

Options :

878270201309. 1
878270201310. 2
878270201311.3

878270201312. 4

Question Number : 44 Question Id : 87827051168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amrit Udhyan (Mughal Gardens) are type of

- Wild Gardens

- Free Style Gardens
- Formal Gardens

. Informal Gardens

B A o

Options :
878270201313. 1

878270201314. 2



878270201315. 3

878270201316. 4

Question Number : 44 Question Id : 87827051168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'B-F

A IIH (T o) [PU TSR & &
2 Tl EI3d e

3. AHUHIR® IIH

4 AENG 3

Options:

878270201313. 1
878270201314. 2
878270201315. 3

878270201316. 4

Question Number : 45 Question Id : 87827051169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Japanese Gardens are type of

. Formal Gardens
_Informal Gardens

- Free Style Gardens
- Wild Gardens

L

Options :
878270201317. 1

878270201318. 2



878270201319. 3
878270201320. 4

Question Number : 45 Question Id : 87827051169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 3 {69 PR & §

1. AU=IRE IIH
2 ARG I

Options:

878270201317. 1
878270201318. 2
878270201319. 3

878270201320. 4

Question Number : 46 Question Id : 87827051170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who coined the term Ecology?

1. E-P Odum

2. A-G Tansley
3. F-E Clements
4 Ernst Haeckel

Options :
878270201321. 1

878270201322. 2



878270201323. 3

878270201324. 4

Question Number : 46 Question Id : 87827051170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o .

TRRTaS] et faog- ufauiiad fagr?

Options:

878270201321. 1
878270201322. 2
878270201323. 3

878270201324. 4

Question Number : 47 Question Id : 87827051171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the largest reservoir of carbon in the earth?

1. Oceans

2. Vegetation

3. Soil

4 Buried limestone

Options :

878270201325. 1



878270201326. 2
878270201327. 3

878270201328. 4

Question Number : 47 Question Id : 87827051171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl IR dla- & Had g91 HSR dIH 9182

1. HEITR

2. g-ufd

3. fagl

4. Gl U 1 UK

Options:

878270201325. 1
878270201326. 2
878270201327.3

878270201328. 4

Question Number : 48 Question Id : 87827051172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the important hotspot of Biodiversity in India?

1. Indo-Gangetic plains
2. Western Ghats

3. Aravali hills

4. Satpuda hills

Options :

878270201329. 1



878270201330. 2
878270201331. 3

878270201332. 4

Question Number : 48 Question Id : 87827051172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa # ¥ & 91 4Rd H 99 fafauar &1 gy glcwie g2

1. YROIT & HgE
2 uigH gre
3. 3Rad! geredl

-

4 Hd4sl Yelisdl

Options:

878270201329. 1
878270201330. 2
878270201331. 3

878270201332. 4

Question Number : 49 Question Id : 87827051173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Removal of decomposers from an ecosystem will leads to

1. Decrease In the population of carnivores
2. Increase in number of herbivores

3. Decrease In nutrient cycling

4 Increase in number of Primary producers

Options :

878270201333. 1



878270201334. 2
878270201335. 3

878270201336. 4

Question Number : 49 Question Id : 87827051173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uiRfRfdes &3 9 uucH! &f 8eHT 309 H3d &

1. HiEER] 96l @f MaEK § dal
2. AoTRIAl & 9= | afg

3. U9y 9 § HH1

4 UTUHD IdTGH! DI W= H gig

Options:

878270201333. 1
878270201334. 2
878270201335. 3
878270201336. 4

Question Number : 50 Question Id : 87827051174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mycorrhizae help in plant nutrition by:

1. Providing sugars to plant roots

2. Enhancing root growth

3. Converting Nitrogen to Ammonia

4. Absorbing water and Minerals (Phosphorus)

Options :

878270201337. 1



878270201338. 2
878270201339. 3

878270201340. 4

Question Number : 50 Question Id : 87827051174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARSI Ul & TNy § SRl o3l o

1. Urel} & oIS Bl Xl WG Bl

2. T5i & i DI oM

3. A13cioF Bl I H ggaH

4 3TN Ul 3R @ (BIEpRE)

Options:

878270201337. 1
878270201338. 2
878270201339. 3

878270201340. 4

Question Number : 51 Question Id : 87827051175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hardy-Weinberg principle explain

1. Frequency of genotypes and alleles
2. Frequency of phenotypes

3. Rate of reproductive success

4 Mutation

Options :

878270201341. 1



878270201342. 2
878270201343. 3

878270201344. 4

Question Number : 51 Question Id : 87827051175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSl da Rigid o9re &l &

TEUTEY DI 31
- Hhidl ﬁ?

Lu il { ol |

oL Il

Options:

878270201341. 1
878270201342. 2
878270201343. 3

878270201344. 4

Question Number : 52 Question Id : 87827051176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The functional role of an organism in the ecological system is known as:

1. Niche

2. Microhabitat
3. Habitat

4. Mimicry

Options :

878270201345. 1



878270201346. 2
878270201347. 3

878270201348. 4

Question Number : 52 Question Id : 87827051176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ S .

QIRRTB TG TUTelt # TP Siiq 1 ®iersd HHD! & ©Y J SHE ol 6

191954 (Niche)
2 geAuTiar
3. ggfag

Options:

878270201345. 1
878270201346. 2
878270201347.3

878270201348. 4

Question Number : 53 Question Id : 87827051177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Biogeographic regions are reported to exist in India?

- Five
Ten
_seven
- Twelve

AW N -

Options :

878270201349. 1



878270201350. 2
878270201351. 3

878270201352. 4

Question Number : 53 Question Id : 87827051177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & fha+ siauiifers e siftaa § 82

1. 19
2. o4

3. 91
4 dlig

Options:

878270201349. 1
878270201350. 2
878270201351. 3

878270201352. 4

Question Number : 54 Question Id : 87827051178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which pyramid i1s always straight?

. Biomass

. Energy

- Number

_number and Biomass

B T o

Options :

878270201353. 1



878270201354. 2
878270201355. 3

878270201356. 4

Question Number : 54 Question Id : 87827051178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofefaa & &9 a1 tRifs eo=m @ eid 22

1. SI9YR (SEETE)
2. Sl
3. O3

Options:

878270201353. 1
878270201354. 2
878270201355. 3

878270201356. 4

Question Number : 55 Question Id : 87827051179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kranz Anatomy is present in

- G3 Plants

. G4 Plants

- CAM

. Cryptogams

B T o

Options :

878270201357. 1



878270201358. 2
878270201359. 3

878270201360. 4

Question Number : 55 Question Id : 87827051179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hid TATeiHl | Jufyd &

1. C3 e
2 CAUE
3. 4iUd (CAM)

Options:

878270201357. 1
878270201358. 2
878270201359. 3

878270201360. 4

Question Number : 56 Question Id : 87827051180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which variety was developed by somaclonal selection?

1. Pusa 1121

2. Pusa Jai Kishan
3. Pusa Komal

4. Pusa Vaibhav

Options :

878270201361. 1



878270201362. 2
878270201363. 3

878270201364. 4

Question Number : 56 Question Id : 87827051180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HaaaH! 99 arl (o g fiow &1 faer [ mar ur?

1. THT 1121
2. gd1 oy fh e

3. O B
4 gHI dHg

Options:

878270201361. 1
878270201362. 2
878270201363. 3
878270201364. 4

Question Number : 57 Question Id : 87827051181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approval of Release of GMOs is Given by in India

EAC
CB

T
T

m T

G
C
D
D

e Dk
tn

Options :



878270201365. 1
878270201366. 2
878270201367. 3

878270201368. 4

Question Number : 57 Question Id : 87827051181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd ¥ o TH.311. (GMOs) &I IR &3 &1 il ... RIS 9l &

1. S5 Q! (GEAC)
2. Gigididl (CPCB)
3. Bi€idi (DBT)

4. Biugel (DST)

Options :

878270201365. 1
878270201366. 2
878270201367. 3

878270201368. 4

Question Number : 58 Question Id : 87827051182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What do you mean by Biopiracy?

1. Use of bioresporces by MNCs and other organizations without proper authorisation
2_lllegal Storage of bioresources

3. Benefit sharing of Biological resources

4 Sustainable use of Biological resources

Options :



878270201369. 1
878270201370. 2
878270201371. 3

878270201372. 4

Question Number : 58 Question Id : 87827051182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sa(dgan IR U ST FT SR 82

1. for Sferd wif¥ie T 3 WeHT SR SgIPig Ul §RT S YareH BT ITGHT
2. SIGUHTYE] B 3y HSRUT

3. Wifde GEIeET BT AT T AT
4 Sfaqd dOre=l &1 gad 3TN

Options :

878270201369. 1
878270201370. 2
878270201371. 3

878270201372. 4

Question Number : 59 Question Id : 87827051183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Headquarter of PPV & FRA Is situated in:

1. New Delhi
2. Banglore
3. Chennal
4 Mumbai



Options :

878270201373. 1
878270201374. 2
878270201375. 3
878270201376. 4

Question Number : 59 Question Id : 87827051183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui & R U6 3R T PPVAFRA &1 T&0E Fofafad S fyd &
1. 73 facd

2 "Z' \l I

3 99

4 T3

Options :

878270201373. 1
878270201374. 2
878270201375. 3

878270201376. 4

Question Number : 60 Question Id : 87827051184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What do you mean by Gene Therapy?

1. Collection of methods that allows correction of genetic defect
2. It is a advanced biochemical treatment for hair growth

3. It is antisense mRNA Technology

4. This technology was used to cure Corona Virus

Options :

878270201377. 1
878270201378. 2
878270201379. 3

878270201380. 4

Question Number : 60 Question Id : 87827051184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Faftean & Mo aaT 3= 29

1 Tl 1 9 S S7a1® G &1 GURA @1 SFHN ol 8

2 O 91l & [AP1Y & AU U 3ad vid J9a-d JUdR g

3. U8 Uy THRUAT (mRNA) d6-1d |

4 3 AP &1 IUTF HRIFT IEIY & Iala & (o8 fdr 71 o1

Options:

878270201377. 1
878270201378. 2
878270201379. 3

878270201380. 4

Question Number : 61 Question Id : 87827051185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following provided information about various microscopic objects in his book Micrographia?

1. Robert Brown

2. Robert Hooke

3. Antonie van Leeuwenhoek
4 7accharias Janssen

Options :

878270201381. 1
878270201382. 2
878270201383. 3

878270201384. 4

Question Number : 61 Question Id : 87827051185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofefad & 4 feg | oo Qi g i | faftrs Qe & eR I JHER e @1 6 2

3. M &4 digael®

Options:

878270201381. 1
878270201382. 2
878270201383. 3

878270201384. 4

Question Number : 62 Question Id : 87827051186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-Il

List-l List-ll

(Technique) (Most Related)
(A). Confocal Microscope|(

). Uses electron as the source of lllumination and 3-D0 images is formed

(B). TEM (Il). Useful for non-metallic and biological materials
(C). SEM (Ill). Uses laser light as the source of illumination
(D). FSEM (IV). Fixative like formaldehyde and glutaraldehyde, and osmium tefroxide are used

Choose the correct answer from the options given below:

1. (A)- (111}, (B) - (IV), (C) - (1), (D) - (1)

2. (A)-(Il), (B) - (1), (C)- (1), (D) - (IV)

3. (A)- (1), (B) - (), (C) - (1v), (D) - (I

4.(A)- (), (B)- (i), (C)- (), (D) - (1
Options :

878270201385. 1
878270201386. 2
878270201387. 3
878270201388. 4

Question Number : 62 Question Id : 87827051186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl R G 1 e Y

Sl Tt

(@) (i i

(). PIFTHT RPN (1) W & B 5 w0 A SHaH 31 S He & R 3-8 3fa ot 2|

(B). A (TEM) (). FR-47q 3 ifes el & o gt

(C). THSTH (SEM) (Il). WeBTeY i & &9 # o VTR 1 S0 hedl &

(D). TB.TEL.TH. (FSEM) |(1V). Floaifea ol BIATeserss ok TERICSRISS S St CoiaTzs 1 Jua bl il o

i fou T faded # 9 W6l SR |

1.(A)- (1), (B) - (V), (C) - (1), (D) - (11)

2. (R)-(l1), (8) - (I, (C)- (1), (©) - (V)

3. (A)-(1), (B) - (1), (C) - V), (D) - (1

4.(R)-(IV), (B)- (1), (C) - (1), (D) - ()
Options :

878270201385. 1
878270201386. 2
878270201387. 3
878270201388. 4

Question Number : 63 Question Id : 87827051187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following technique proves useful for observing colourless specimens ?

1. Fluorescence Microscopy
2. Light Microscopy

3. Confocal Microscopy

4 Phase Contrast Microscopy

Options :
878270201389. 1
878270201390. 2

878270201391. 3



878270201392. 4

Question Number : 63 Question Id : 87827051187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiad 5 9§ oF 9 dd-ie FeiH 95931 @I ¢+ & fau 3udn gifed gidl 82

1. WIREY (Fluorescence) H&‘T@:ﬁ

2 VT GEACH

3. BIBIHd AGH DIl

4. Y d'p;l%c ﬁ&HGﬂTﬁ{Phase Contrast Microsccopy)

Options :

878270201389. 1
878270201390. 2
878270201391. 3

878270201392. 4

Question Number : 64 Question Id : 87827051188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The smallest distance by which two points can be separated and distinguished as individual objects is called

1. Magnification

2. Numerical aperture

3. llumination and focusing
4 Resolution

Options :
878270201393. 1
878270201394. 2

878270201395. 3



878270201396. 4

Question Number : 64 Question Id : 87827051188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 B1C1 ¢ oreid 501 51 gl o1 o ool ff el & iR 1L fer] GGl & 0 H UG ool ol Gl 6, 90 ___
5] Il

1. HagH

). YT et (Numerical aperture)
3. Tl (Ilumination ) R BIHE BT
4. T (Resolution)

Options :

878270201393. 1
878270201394. 2
878270201395. 3
878270201396. 4

Question Number : 65 Question Id : 87827051189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Parts of 2 -

Microscope) (Functions)

(A). Objective (I). Itis located under the stage or between the light source and condenser

(B). Diaphragm or  |(Il). It gathers light from the specimen. magnifies the image of the specimen and projects this
Iris magnified image

(C). Nosepiece (I11). It helps in forming enlarged virtual image that can be seen by the observer

(D). Eyepiece (IV). The circular structure that screws the objective lenses

Choose the correct answer from the aptions given helow:

Options:

878270201397. 1
878270201398. 2
878270201399. 3

878270201400. 4

Question Number : 65 Question Id : 87827051189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tt - 1 el -1 Y A it

il il
(Fereil & ) (@)
(A) T (1). T8 79 & 1% 71 Yo BT 3R FETR P 89 e &

(B). ST T R |(1). T8 T & WobTs] U3 el &, T BI &1 &1 GGl & AR 59 HMafia Sid &1 9% S &
(C). 7 5 (nose piece)(IIl). T8 TS1 34T B &7 # ASE $4aT & o9 T034 GRI o1 o 90 ¢
(D). 7S U (eye piece )|(1V). TR TXa o Sisaifdeq o & 5 (screw) HY

il UL fahedl & ¥ Fel IR |

1.(A)- (1), (B) - (), (C)- (1), (D) - (1V)
2. (A)-(It), (B) - (1), (C) - (IV), (D) - (1Ir)
3. (A)-(It), (B) - (1), (C)- (1M1}, (D) - (IV)
4. (R)-(IV), (B)- 1), (C)- (1), (D) - (Il

Options :

878270201397. 1
878270201398. 2
878270201399. 3

878270201400. 4

Question Number : 66 Question Id : 87827051190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which elements plays a key role in stomata movement?

1. Potassium
2. Nitrogen

3. Phosphorus
4 Silicon

Options :

878270201401. 1
878270201402. 2
878270201403. 3



878270201404. 4

Question Number : 66 Question Id : 87827051190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[y et B 3

i e H &iF ¥ dcd He@yul YfH®T FHTd 82

4 TofaeE

Options :

878270201401. 1
878270201402. 2
878270201403. 3

878270201404. 4

Question Number : 67 Question Id : 87827051191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the molecule that leaves the Calvin cycle to be converted into glucose?

1. ADP

2. RuBP (Ribulose Bisphosphate)

3. 3-PGA (3-Phospho Glyceric Acid)
4. G3P (Glyceraldehyde 3-phosphate)

Options :
878270201405. 1
878270201406. 2

878270201407. 3



878270201408. 4

Question Number : 67 Question Id : 87827051191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3G U] BT 919 Fa3T off dfcad T% @I qdie § uRafdd &34 & R st eara?
1. TSIt (ADP)

2. ¥R g s gt (R fagmiehe)
3. 3050 (3-BiEp! fiai® Ts)
4. G3P (FTHcaes s 3-Bidha)

Options :

878270201405. 1
878270201406. 2
878270201407. 3

878270201408. 4

Question Number : 68 Question Id : 87827051192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which color(s) of light does chlorophyll a reflect?

1. Red and Blue
2. Green

3. Red

4 Blue

Options :
878270201409. 1
878270201410. 2

878270201411. 3



878270201412. 4

Question Number : 68 Question Id : 87827051192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG &1 & 98 31 FaRrifhd ufafdfad @ars 2

2. 84
3. d
4 Hfer

Options :

878270201409. 1
878270201410. 2
878270201411.3

878270201412. 4

Question Number : 69 Question Id : 87827051193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is light energy used for in the light-dependent reactions?

. For spliting a water molecule
_ To energize an electron

. To produce proteins

. To synthesize glucose

B A o

Options :
878270201413. 1
878270201414. 2

878270201415. 3



878270201416. 4

Question Number : 69 Question Id : 87827051193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

umE-FAYR ufafearst § yer i & Sugn fag fore fear smar g2

1. O @ 0] Bl faHTRTd B & [l
2. Udh gcide- @l Hishd o o [
3. Ui 891 & fag

4 DI B YW A & g

Options :

878270201413. 1
878270201414. 2
878270201415. 3

878270201416. 4

Question Number : 70 Question Id : 87827051194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which statement about thylakoids in eukaryotes 1s not correct?

1. Thylakoids are assembled into stacks

2. The space surrounding thylakoids is called stroma
3. Thylakoids contain pigments such as chlorophyll
4 Thylakoids lack membranes

Options :
878270201417. 1
878270201418. 2

878270201419. 3



878270201420. 4

Question Number : 70 Question Id : 87827051194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

goREcE § YIadisey & aR & S 9 HUF T8 T8l 82

1. YITHI38d DI ¢l H sHg] [dl ordl &

2. YOAIDIsSY & AU & ®H B T Bl oidl & |
3. YOdIPIg8y § gaRibd o auid sid 8|

4 UOAIDIgEY § faIcel @I 349 gidl &

Options :

878270201417. 1
878270201418. 2
878270201419. 3
878270201420. 4

Question Number : 71 Question Id : 87827051195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What happens to NADH when it arrives at the electron transport chain?

1. It is reduced to NAD™
2. Itis oxidized to NAD®
3. Itis reduced to FAD
4 Itis oxidized to FAD

Options :
878270201421. 1
878270201422. 2

878270201423. 3



878270201424. 4

Question Number : 71 Question Id : 87827051195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St

UH.U E1.T9 (NADH) &1 &1 §1aT & O1d I8 30aeI URag 4ad § JH1d 82

1. U8 TA.U 31 * 9@ MUIidd &l 9l 8
2 g U H ffiipd gl &
3. Ug UG U S d& HUdfd 8l oidl &
4 g UB U Sl F ffefied sial 81

Options :

878270201421. 1
878270201422. 2
878270201423. 3

878270201424. 4

Question Number : 72 Question Id : 87827051196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chemiosmosis in eukaryotic cells involves?

1. The movement of electrons across the cell membrane

2. The movement of hydrogen atoms across the outer cell membrane
3. The movement of hydrogen ions across the mitochondrial membrane
4. The movement of glucose through the cell membrane

Options :
878270201425. 1
878270201426. 2

878270201427. 3



878270201428. 4

Question Number : 72 Question Id : 87827051196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

goiaifes oifisred H HHEsHIRY (Chemiosmosis) XA 87

1. DI f3reehl & UR gaaeiHl @1 Tfd

2. S8 DIADI FHieTh H g5 sio- RS &1 1fd
3. HiZcidi=ad il & UR BIgSior ! &l I1id
4. HITADI &Il & HA1hH 9 Wbl Bl i

Options :

878270201425. 1
878270201426. 2
878270201427. 3

878270201428. 4

Question Number : 73 Question Id : 87827051197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If & cell has access to three molecules of glucose, how many molecules of NADH could be made during the citric acid
cycle?

1.3
2.6
312
418

Options :
878270201429. 1

878270201430. 2



878270201431. 3

878270201432. 4

Question Number : 73 Question Id : 87827051197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i U DI H ISl B o A O Ugd g, ol WEiod TS 7h o G NADH  Tohei U] 10 o T 2

1.3
2.6
312
418

Options:

878270201429. 1
878270201430. 2
878270201431. 3

878270201432. 4

Question Number : 74 Question Id : 87827051198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per area and production estimates of Horticulture Crops 2021-22 (final), arrange the area wise cultivation of following
crops in increasing order-

(A). Ber

(B). Banana

(C). Apple

(D). Guava

Choose the correct answer from the options given below:

.(A), (D), B),
(D), (B), (A),
(A),(C). (D
1

A) (

(C)
)
)
)

f__)

), (
) (

C__)U.'JC'

AL
B),

CD

(
(
(C)
(

_l:. (_O I'\_) e
L:J
'c‘)

Options :

878270201433. 1
878270201434. 2
878270201435. 3
878270201436. 4

Question Number : 74 Question Id : 87827051198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST el &1 3R SRTe ATt 2024-22 (3ifcm) a5 o, P el o1 &R el 1 96 9 H ol

AR

(B) &

()%

(D) ¥ET

3 e fowedt § S T ST

At

B), (C)
),(C)
D), (B)
A), (D), (C)

1

D)
Bs
C),

=
’5-?

:l:p

(
A
), (C)
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£
(D)
5
.(B),

P R S

Options :

878270201433. 1
878270201434. 2
878270201435. 3

878270201436. 4

Question Number : 75 Question Id : 87827051199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll

(Carbohydrates)|(Monomers)

(A). Maltose  [(1). Monomers of glucose and galactose

(B). Lactose  [(Il). Monomers glucose and fructose

(C). Starch (I11). Monomers of glucose and glucose

(D). sucrose  [(IV). Polyscaccharide consists of many chains of monomers of glucose

Choose the correct answer from the options given below:

1. (A) - (I1), (B) - (1), (C) - (IV), (D) - (1)
2. (A)- (1), (B) - (I1), (C) - (v), (D) - (1IN}
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1IT)
4.(A)-(Iln, (B) - (1), (C) - (IV), (D) - (I1)

Options :

878270201437. 1
878270201438. 2
878270201439. 3

878270201440. 4

Question Number : 75 Question Id : 87827051199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt -1 B G -1l O gafed Hifer

it -1l

(PTATEISST) (HIHHH)

(A). ATEENS (1), BT HIR e & aEeE

(B). T |(11). AT @ io SR Haeid

(C). ™ |(). THIS AR T B A

(D). IS |(IV). UTcihIss H e@ha & A & &S @ el ol
TRum e S R SR

1..(A) - (1), (B) - (1lI), (C) - (IV), (D) - (I)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (111}
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (111}
4. (A) - (), (B) - (1), (C) - (IV), (D) - (1)

Options :

878270201437. 1
878270201438. 2
878270201439. 3
878270201440. 4




